

2019 Washington Street, East Charleston, WV 25305 Telephone: 304-558-2306 General Fax: 304-558-6026

Bid Fax: 304-558-3970

The following documentation is an electronically-submitted vendor response to an advertised solicitation from the *West Virginia Purchasing Bulletin* within the Vendor Self-Service portal at *wvOASIS.gov*. As part of the State of West Virginia's procurement process, and to maintain the transparency of the bid-opening process, this documentation submitted online is publicly posted by the West Virginia Purchasing Division at *WVPurchasing.gov* with any other vendor responses to this solicitation submitted to the Purchasing Division in hard copy format.





Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

State of West Virginia Solicitation Response

Proc Folder: 1595488

Solicitation Description: Tactical Items & Clothing

Proc Type: Central Master Agreement

Solicitation Closes	Solicitation Response	Version
2025-01-23 13:30	SR 0619 ESR01222500000004454	1

VENDOR

000000125572

WITMER PUBLIC SAFETY GROUP INC

Solicitation Number: CRFQ 0619 FIC2500000001

Total Bid: 0 Response Date: 2025-01-22 Response Time: 16:13:37

Comments:

FOR INFORMATION CONTACT THE BUYER

David H Pauline 304-558-0067 david.h.pauline@wv.gov

Vendor Signature X

FEIN# DATE

All offers subject to all terms and conditions contained in this solicitation

 Date Printed:
 Jan 23, 2025
 Page: 1
 FORM ID: WV-PRC-SR-001 2020/05

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
1	Eligible Item # 1 - Uniforms	0.00000	EA	809438.000000	0.00

Comm Code	Manufacturer	Specification	Model #	
53102700				

Commodity Line Comments: We are only bidding the 5.11 Tactical product. See Column M on Exhibit A Price Sheet for 5.11 Tactical SKUs. 32% off MSRP for 5.11 Tactical product.

Extended Description:

Please see Exhibit "A" Pricing Page to input pricing.

Eligible Items # 1 - Uniforms

Date Printed: Jan 23, 2025 Page: 2 FORM ID: WV-PRC-SR-001 2020/05

Discount Percentage Category Section

Category Section	Catalog Item Section	Discount Percentage	
3.1.1	Eligible Items # 1 - Uniforms	32.00%	
3.1.2	Eligible Items # 2 - Casual Clothing	32.00%	
3.1.3	Eligible Items # 3 - Tactical Equipment	0.00%	
3.1.4	Eligible Items # 4 - Footwear	32.00%	
3.1.5	Eligible Items # 5 - Body Armor	0.00%	
3.1.6	Eligible Items # 6 - Duty Gear	0.00%	
3.1.7	Eligible Items # 7 - Jackets	32.00%	
3.1.8	Eligible Items # 8 - Patches	0.00%	
3.1.9	Eligible Items # 9 - Badges	0.00%	
3.1.10	Eligible Items # 10 - Miscellaneous Items	0.00%	
			·

Please enter your discount percentage for each Catalog Item Section here.

Pricing Page Eligible Item Description - All references to brand names are for illustration purposes only and vendor may bid the brand listed or an equal product.

Discounted Unit Price Calculation

Bid Total Calculation

Eligible Item Number	Description	Category	Catalog Price	Units Provided for Catalog Price	Unit Price	Discount Percentage	Discounted Unit Price	Unit (For Calculation Purposes)	Annual Estimated Unit Quantity	Discounted Unit Price	Item Total Cost
				_							
3.1.1	Eligible Items # 1 - Uniforms										
3.1.1.1	5.11 Tactical Taclite TDU Shirt or Equal	Uniforms									
	Sizes:										
	Extra Small			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Small		70.00	1.00	\$ 70.00	32.00%	\$47.60	Each	100	\$47.60	\$4,760.00
	Large		70.00	1.00	\$ 70.00	32.00%	\$47.60	Each	100	\$47.60	\$4,760.00
	X Large		70.00	1.00	\$ 70.00	32.00%	\$47.60	Each	100	\$47.60	\$4,760.00
	2X Large		70.00	1.00	\$ 70.00	32.00%	\$47.60	Each	100	\$47.60	\$4,760.00
	3X Large		81.00	1.00	\$ 81.00	32.00%	\$55.08	Each	100	\$55.08	\$5,508.00
	4X Large		81.00	1.00	\$ 81.00	32.00%	\$55.08	Each	100	\$55.08	\$5,508.00
	5X Large		81.00	1.00	\$ 81.00	32.00%	\$55.08	Each	100	\$55.08	\$5,508.00
3.1.1.2	5.11 Tactical TDU Shirt or Equal	Uniforms									
	Sizes:										
	Extra Small		65.00	1.00	\$ 65.00	32.00%	\$44.20	Each	100	\$44.20	\$4,420.00
	Small		65.00	1.00	\$ 65.00	32.00%	\$44.20	Each	100	\$44.20	\$4,420.00
	Large		65.00	1.00	\$ 65.00	32.00%	\$44.20	Each	100	\$44.20	\$4,420.00
	X Large		65.00	1.00	\$ 65.00	32.00%	\$44.20	Each	100	\$44.20	\$4,420.00
	2X Large		65.00	1.00	\$ 65.00	32.00%	\$44.20	Each	100	\$44.20	\$4,420.00
	3X Large		75.00	1.00	\$ 75.00	32.00%	\$51.00	Each	100	\$51.00	\$5,100.00
	4X Large		75.00	1.00	\$ 75.00	32.00%	\$51.00	Each	100	\$51.00	\$5,100.00

3.1.1.3	5.11 Tactical Taclite Pro Shirt or Equal	Uniforms									
	Sizes:										
	Extra Small		64.00	1.00	\$ 64.00	32.00%	\$43.52	Each	100	\$43.52	\$4,352.00
	Small		64.00	1.00	\$ 64.00	32.00%	\$43.52	Each	100	\$43.52	\$4,352.00
	Large		64.00	1.00	\$ 64.00	32.00%	\$43.52	Each	100	\$43.52	\$4,352.00
	X Large		64.00	1.00	\$ 64.00	32.00%	\$43.52	Each	100	\$43.52	\$4,352.00
	2X Large		64.00	1.00	\$ 64.00	32.00%	\$43.52	Each	100	\$43.52	\$4,352.00
3.1.1.4	Tactical 1/4 Zip Job Shirt or Equal	Uniforms									
	Sizes:										
	Extra Small		90.00	1.00	\$ 90.00	32.00%	\$61.20	Each	100	\$61.20	\$6,120.00
	Small		90.00	1.00	\$ 90.00	32.00%	\$61.20	Each	100	\$61.20	\$6,120.0
	Large		90.00	1.00	\$ 90.00	32.00%	\$61.20	Each	100	\$61.20	\$6,120.00
	X Large		90.00	1.00	\$ 90.00	32.00%	\$61.20	Each	100	\$61.20	\$6,120.0
	2X Large		90.00	1.00	\$ 90.00	32.00%	\$61.20	Each	100	\$61.20	\$6,120.00
3.1.1.5	Spiewak Polyester Wool Performance Duty Shirt or Equal	Uniforms									
	Sizes:										
	Extra Small - Chest 30/32			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Small - Neck - 14 - 14.5 - Chest 34/36			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Medium - Neck - 15 - 15.5 - Chest 38/40			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Large - Neck - 16 - 16.5 - Chest 42/44			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	X Large - Neck - 17 - 17.5 - Chest 46/48			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	2X Large - Neck - 18 - 18.5 - Chest 50/52			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	3X Large - Neck - 19 - 19.5 - Chest 54/56			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	4X Large - Neck - 20 - 20.5 - Chest 58/60			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	

	5X Large - Neck - 21 - 21.5 - Chest 62/64			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	6X Large - Neck - 22 - 22.5 - Chest 66/68			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
.1.1.6	5.11 Tactical Taclite Pro Pants or Equal	Uniforms										
	Sizes:											
	Mens 28		58.00	1.00	\$	58.00	32.00%	\$39.44	Each	100	\$39.44	\$3,94
	Mens 30		58.00	1.00	\$	58.00	32.00%	\$39.44	Each	100	\$39.44	\$3,94
	Mens 32		58.00	1.00	\$	58.00	32.00%	\$39.44	Each	100	\$39.44	\$3,94
	Mens 34		58.00	1.00	\$	58.00	32.00%	\$39.44	Each	100	\$39.44	\$3,94
	Mens 36		58.00	1.00	\$	58.00	32.00%	\$39.44	Each	100	\$39.44	\$3,94
	Mens 38		58.00	1.00	\$	58.00	32.00%	\$39.44	Each	100	\$39.44	\$3,94
	Mens 40		58.00	1.00	\$	58.00	32.00%	\$39.44	Each	100	\$39.44	\$3,94
	Mens 42		58.00	1.00	\$	58.00	32.00%	\$39.44	Each	100	\$39.44	\$3,9
	Mens 44		58.00	1.00	\$	58.00	32.00%	\$39.44	Each	100	\$39.44	\$3,9
	Mens 46		67.00	1.00	\$	67.00	32.00%	\$45.56	Each	100	\$45.56	\$4,5
	Mens 48		67.00	1.00	\$	67.00	32.00%	\$45.56	Each	100	\$45.56	\$4,5
	Mens 50		67.00	1.00	\$	67.00	32.00%	\$45.56	Each	100	\$45.56	\$4,5
	Mens 52		67.00	1.00	\$	67.00	32.00%	\$45.56	Each	100	\$45.56	\$4,5
	Mens 54		67.00	1.00	\$	67.00	32.00%	\$45.56	Each	100	\$45.56	\$4,5
	Mens 56		67.00	1.00	\$	67.00	32.00%	\$45.56	Each	100	\$45.56	\$4,5
	Mens 58		67.00	1.00	\$	67.00	32.00%	\$45.56	Each	100	\$45.56	\$4,5
	Womens 2		58.00	1.00	\$	58.00	32.00%	\$39.44	Each	100	\$39.44	\$3,9
	Womens 4		58.00	1.00	\$	58.00	32.00%	\$39.44	Each	100	\$39.44	\$3,9
	Womens 6		58.00	1.00	\$	58.00	32.00%	\$39.44	Each	100	\$39.44	\$3,9
	Womens 8		58.00	1.00	\$	58.00	32.00%	\$39.44	Each	100	\$39.44	\$3,9
	Womens 10		58.00	1.00	\$	58.00	32.00%	\$39.44	Each	100	\$39.44	\$3,9
	Womens 12		58.00	1.00	\$	58.00	32.00%	\$39.44	Each	100	\$39.44	\$3,9
· <u> </u>	Womens 14		58.00	1.00	Ś	58.00	32.00%	\$39.44	Each	100	\$39.44	\$3,9

Page 4 of 48

		Ţ	1	ı	1			1	T	1	,	
	Womens 16		58.00	1.00	\$	58.00	32.00%	\$39.44	Each	100	\$39.44	\$3,944.0
	Womens 18		67.00	1.00	\$	67.00	32.00%	\$45.56	Each	100	\$45.56	\$4,556.0
	Womens 20		67.00	1.00	\$	67.00	32.00%	\$45.56	Each	100	\$45.56	\$4,556.0
	Womens 22			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 24			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 26			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 28			1.00	\$		32.00%	\$0.00	Each	100	\$0.00	
3.1.1.7	Tactical Ripstop TDU Pants or Equal	Uniforms										
	Sizes:											
	Mens Extra Small			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Small			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Medium			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Large			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens X Large			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 2X Large			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 3X Large			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 4X Large			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 2			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 4			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 6			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 8			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 10			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 12			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 14			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 16			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 18			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 20			1.00	\$	_	32.00%	\$0.00	Each	100	\$0.00	

1.1.8	Spiewak Four (4) Pocket Polyester Wool Pants or Equal	Uniforms									
	Sizes:										
	Mens 28		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 30		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 32		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 34		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 36		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 38		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 40		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 42		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 44		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 46		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 48		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 50		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 52		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 54		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 56		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 58		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 60		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 62		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 64		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 2		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 4		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 6		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 8		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 10		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 12		1.00	\$ -	_	32.00%	\$0.00	Each	100	\$0.00	

ī			1		,		T	1	1	1	1	
	Womens 14			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 16			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 18			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 20			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 22			1.00	\$	-,	32.00%	\$0.00	Each	100	\$0.00	
	Womens 24			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 26			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 28			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
3.1.1.9	Tru-Spec 24-7 Series Original Tactical Pants or Equal	Uniforms										
	Sizes:											
	Mens 28			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 30			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 32			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 34			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 36			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 38			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 40			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 42			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 44			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 46			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 48			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 50			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 52			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 54			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 0			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 2			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 4			1.00	\$	_	32.00%	\$0.00	Each	100	\$0.00	

1			1	T	-		1	1	1	1	1	
	Womens 6			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 8			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 10			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 12			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 14			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 16			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 18			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 20			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 22			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 24			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
1.1.10	Red Kap Dura-Kap Industrial Pants or Equal	Uniforms										
	Sizes:											
	Mens 26			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 28			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 30			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 32			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 34			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 36			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 38			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 40			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 42			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 44			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 46			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 48			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 50			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 52			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 54			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	

						_			
	Mens 56		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens 58		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens 60		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens 62		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens 64		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
3.1.1.11	Flying Cross White Shirt or Equal	Uniforms							
	Sizes:								
	Mens 14.5		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens 15.0		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens 15.5		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens 16.0		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens 16.5		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens 17.0		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens 17.5		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens 18.0		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens 18.5		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Womens 28		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Womens 30		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Womens 32		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Womens 34		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Womens 36		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Womens 38		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Womens 40		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Womens 42		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Womens 44		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Womens 46		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00

1	1		T		1		ı	T				ı
3.1.1.12	Flying Cross Women's Dress Trousers or Equal	Uniforms										
	Sizes:											
	Mens 28			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 30			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 32			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 34			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 36			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 38			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 40			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 42			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 44			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 46			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 48			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 50			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 52			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 54			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 56			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
3.1.1.13	Flying Cross Trousers with Flex Waistband or Equal	Uniforms										
	Sizes:											
	Mens 28			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 30			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 32			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 34			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 36			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 38			1.00	Ś	_	32.00%	\$0.00	Each	100	\$0.00	

-	1	1					1	1	1	
	Mens 40		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Mens 42		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Mens 44		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Mens 46		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Mens 48		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Mens 50		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Mens 52		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Mens 54		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
3.1.1.14	Flying Cross Vis System 3 Polyester Trousers or Equal	Uniforms								
	Sizes:									
	Mens 26		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Mens 28		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Mens 30		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Mens 32		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Mens 34		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Mens 36		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Mens 38		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Mens 40		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Mens 42		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Mens 44		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Mens 46		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Mens 48		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Mens 50		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Womens 4		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Womens 6		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Womens 8		 1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	

	•			_			r	1	1	,	
	Womens 10		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 12		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 14		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 16		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 18		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 20		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 22		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 24		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens 26		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
3.1.1.15	Flying Cross Polyester Wool Trousers with Flex Waistband or Equal	Uniforms									
	Sizes:										
	Mens 28		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 30		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 32		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 34		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 36		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 38		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 40		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 42		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 44		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 46		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 48		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens 50		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	

1.1.16	Tru-Spec 24-7 Classic Pants or Equal	Uniforms							
	Sizes:								
	Mens 28		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens 30		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens 32		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens 34		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens 36		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens 38		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens 40		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens 42		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens 44		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens 46		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens 48		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens 50		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens 52		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens 54		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Womens 0		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Womens 2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Womens 4		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Womens 6		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Womens 8		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Womens 10		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Womens 12		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Womens 14		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Womens 16		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Womens 18		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Womens 20		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Womens 22		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00

	T		1			1		1	ı	I	
	Womens 24			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
3.1.1.17	Lawpro 1 1/2 Premium Leather Uniform Belt or Equal	Uniforms									
	Sizes:										
	30			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	32			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	34			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	36			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	38			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	40			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	42			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	44			1.00	\$ 	32.00%	\$0.00	Each	100	\$0.00	
	46			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	48			1.00	\$ 	32.00%	\$0.00	Each	100	\$0.00	
	50			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	52			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	54			1.00	\$ -,	32.00%	\$0.00	Each	100	\$0.00	
	56			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
3.1.1.18	Boston Leather 1 1/2 Garrison Belt or Equal	Uniforms									
	Sizes:										
	26			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	28			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	30			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	32			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	34			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	36			1.00	\$ _	32.00%	\$0.00	Each	100	\$0.00	

		1	1	1	_	1			1	1		
	38			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	40			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	42			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	44			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	46			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	48			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	50			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	52			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	54			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	56			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	58			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	60			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
3.1.1.19	5.11 Tactical Operator 1.75 Belt or Equal	Uniforms										
	Sizes:											
	Small		50.00	1.00	\$	50.00	32.00%	\$34.00	Each	100	\$34.00	\$3,400.00
	Large		50.00	1.00	\$	50.00	32.00%	\$34.00	Each	100	\$34.00	\$3,400.00
	X Large		50.00	1.00	\$	50.00	32.00%	\$34.00	Each	100	\$34.00	\$3,400.00
	2X Large		57.50	1.00	\$	57.50	32.00%	\$39.10	Each	100	\$39.10	\$3,910.00
	3X Large		57.50	1.00	\$	57.50	32.00%	\$39.10	Each	100	\$39.10	\$3,910.00
3.1.1.20	5.11 Tactical 1.5 TDU Belt or Equal	Uniforms										
	Sizes:											
	Extra Small			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Small		22.00	1.00	\$	22.00	32.00%	\$14.96	Each	100	\$14.96	\$1,496.00
	Large		22.00	1.00	\$	22.00	32.00%	\$14.96	Each	100	\$14.96	\$1,496.00
	X Large		22.00	1.00	\$	22.00	32.00%	\$14.96	Each	100	\$14.96	\$1,496.00

	ı			I			ī	1	1	1	
	2X Large		25.50	1.00	\$ 25.50	32.00%	\$17.34	Each	100	\$17.34	\$1,734.00
	3X Large		25.50	1.00	\$ 25.50	32.00%	\$17.34	Each	100	\$17.34	\$1,734.00
	4X Large		25.50	1.00	\$ 25.50	32.00%	\$17.34	Each	100	\$17.34	\$1,734.00
3.1.1.21	Accumold Elite Duty Belt or Equal	Uniforms									
	Extra Small			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Small			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Large			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	X Large			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	2X Large			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
3.1.1.22	Safariland 4-row Stitch Safarilaminate Duty Belt or Equal	Uniforms									
	Sizes:										
	24			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	26			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	28			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	30			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	32			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	34			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	36			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	38			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	40			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	42			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	44			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	46			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	48			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	50			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	

			1		1	1	ī	1	1	
	52		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	54		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	56		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	58		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	60		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
3.1.1.23	Safariland Buckless Reversible Duty Belt or Equal	Uniforms								
	Sizes:									
	Extra Small		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Small		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Medium		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Large		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	X Large		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	2X Large		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	3X Large		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	4X Large		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	5X Large		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	6X Large		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
3.1.1.24	Galls Gear Leather Trouser Belt or Equal	Uniforms								
	Sizes:									
	30		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	32		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	34		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	36		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	38		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	40		1.00	\$ _	32.00%	\$0.00	Each	100	\$0.00	

	42		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	44		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	46		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	48		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	50		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	52		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	54		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	56		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	58		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	60		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
3.1.1.25	Clip on Tie	Uniforms								
	Sizes:									
	Short - 16 Inches		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Regular - 17.5 Inches		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Long - 20 Inches		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Extra Long - 22.5 Inches		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	2X Long - 24 Inches		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
3.1.1.26	Break-Away Tie	Uniforms								
	Sizes:									
	Short - 14.5 Inches		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Regular - 18 Inches		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Long - 20 Inches		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Extra Long - 22.5 Inches		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	

.1.1.27	Straw Triple Brim Campaign Hat or Equal	Uniforms								
	Sizes:									
	Size - 6 3/8		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size - 6 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size - 6 5/8		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size - 6 3/4		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size - 6 7/8		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size - 7		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size - 7 1/8		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size - 7 1/4		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
,	Size - 7 3/8		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size - 7 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size - 7 5/8		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size - 7 3/4		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size - 7 7/8		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size - 8		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size - 8 1/8		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
						Sub Total Eligible Items # 1				\$255,986

3.1.2	Eligible Item # 2 - Casual Clothing										
3.1.2.1	5.11 Tactical Utility Polo or Equal	Casual Clothing									
	Sizes:										
	Extra Small		35.00	1.00	\$ 35.00	32.00%	\$23.80	Each	100	\$23.80	\$2,380.00
	Small		35.00	1.00	\$ 35.00	32.00%	\$23.80	Each	100	\$23.80	\$2,380.00
	Medium		35.00	1.00	\$ 35.00	32.00%	\$23.80	Each	100	\$23.80	\$2,380.00
	Large		35.00	1.00	\$ 35.00	32.00%	\$23.80	Each	100	\$23.80	\$2,380.00
	X Large		35.00	1.00	\$ 35.00	32.00%	\$23.80	Each	100	\$23.80	\$2,380.00
	2X Large		35.00	1.00	\$ 35.00	32.00%	\$23.80	Each	100	\$23.80	\$2,380.00
	3X Large		38.00	1.00	\$ 38.00	32.00%	\$25.84	Each	100	\$25.84	\$2,584.00
	4X Large		38.00	1.00	\$ 38.00	32.00%	\$25.84	Each	100	\$25.84	\$2,584.00
3.1.2.2	5.11 Tactical Snag-Free Performance Polo Shirt or Equal	Casual Clothing									
	Sizes:										
	Extra Small		48.00	1.00	\$ 48.00	32.00%	\$32.64	Each	100	\$32.64	\$3,264.00
	Small		48.00	1.00	\$ 48.00	32.00%	\$32.64	Each	100	\$32.64	\$3,264.00
	Medium		48.00	1.00	\$ 48.00	32.00%	\$32.64	Each	100	\$32.64	\$3,264.00
	Large		48.00	1.00	\$ 48.00	32.00%	\$32.64	Each	100	\$32.64	\$3,264.00
	X Large		48.00	1.00	\$ 48.00	32.00%	\$32.64	Each	100	\$32.64	\$3,264.00
	2X Large		48.00	1.00	\$ 48.00	32.00%	\$32.64	Each	100	\$32.64	\$3,264.00
	3X Large		55.00	1.00	\$ 55.00	32.00%	\$37.40	Each	100	\$37.40	\$3,740.00

	4X Large		55.00	1.00	\$ 55.00	32.00%	\$37.40	Each	100	\$37.40	\$3,740.00
	5X Large		55.00	1.00	\$ 55.00	32.00%	\$37.40	Each	100	\$37.40	\$3,740.00
3.1.2.3	Propper T Shirts (3 Pack) or Equal	Casual Clothing									
	Sizes:										
	Small			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Medium			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Large			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	X Large			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	2X Large			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	3X Large			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	4X Large			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
3.1.2.4	Tru-Spec 24-7 Performance Polo or Equal	Casual Clothing									
	Sizes:										
	Mens - Short Sleeve - Extra Small			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Mens - Short Sleeve - Small			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Mens - Short Sleeve - Medium			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Mens - Short Sleeve - Large			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Mens - Short Sleeve - X Large			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Mens - Short Sleeve - 2X Large			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	

		_		1		,	,
Mens - Short Sleeve - 3X Large	1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
Mens - Short Sleeve - 4X Large	1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
Mens - Short Sleeve - 5X Large	1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
Mens - Short Sleeve - 6X Large	1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
Women's - Short Sleve - Extra Small	1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
Women's - Short Sleve - Small	1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
Women's - Short Sleve - Medium	1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
Women's - Short Sleve - Large	1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
Women's - Short Sleve - X Large	1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
Women's - Short Sleve - 2X Large	1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
Women's - Short Sleve - 3X Large	1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
Women's - Short Sleve - 4X Large	1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
Mens - Long Sleeve - Extra Small	1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
Mens - Long Sleeve - Small	1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
Mens - Long Sleeve - Medium	1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
Mens - Long Sleeve - Large	1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
Mens - Long Sleeve - X Large	1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
Mens - Long Sleeve - 2X Large	1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
Mens - Long Sleeve - 3X Large	1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
Mens - Long Sleeve - 4X Large	1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
Mens - Long Sleeve - 5X Large	1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00

Women's - Long Sleve - Small			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
Women's - Long Sleve - Medium			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
Women's - Long Sleve - Large			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
Women's - Long Sleve - X Large			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
Women's - Long Sleve - 2X Large			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
Women's - Long Sleve - 3X Large			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
Women's - Long Sleve - 4X Large			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
Port Authority Ladies Silk Touch Short Sleeve Sport Shirt or Equal	Casual Clothing										
Sizes:											
Small			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
Medium			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
Large			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
X Large			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
2X Large			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
3X Large			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
Broadcloth Shirt or Equal	Casual Clothing										
Sizes:											
Small			1.00	\$	-	32.00%	32.00%	Each	100	\$0.32	
Medium			1.00	\$	-	32.00%	32.00%	Each	100	\$0.32	
	Women's - Long Sleve - Medium Women's - Long Sleve - Large Women's - Long Sleve - X Large Women's - Long Sleve - 2X Large Women's - Long Sleve - 3X Large Women's - Long Sleve - 4X Large Port Authority Ladies Silk Touch Short Sleeve Sport Shirt or Equal Sizes: Small Medium Large X Large 2X Large 3X Large Broadcloth Shirt or Equal Sizes: Small	Women's - Long Sleve - Medium Women's - Long Sleve - Large Women's - Long Sleve - X Large Women's - Long Sleve - 2X Large Women's - Long Sleve - 3X Large Women's - Long Sleve - 4X Large Port Authority Ladies Silk Touch Short Sleeve Sport Shirt or Equal Sizes: Small Medium Large X Large 2X Large 3X Large Broadcloth Shirt or Equal Casual Clothing Sizes: Casual Clothing Casual Clothing	Women's - Long Sleve - Medium Women's - Long Sleve - Large Women's - Long Sleve - X Large Women's - Long Sleve - 2X Large Women's - Long Sleve - 3X Large Women's - Long Sleve - 4X Large Port Authority Ladies Silk Touch Short Sleeve Sport Shirt or Equal Sizes: Small Medium Large X Large 2X Large 3X Large Broadcloth Shirt or Equal Casual Clothing Casual Clothing Casual Clothing Casual Clothing Casual Clothing	Women's - Long Sleve - Medium	Women's - Long Sleve - Medium	Women's - Long Sleve - Medium	Momen's - Long Sleve - Medium	Momen's - Long Sleve - Medium	Momen's - Long Sleve - Medium 1.00 S - 32.00% 50.00 Each	Momen's - Long Sleve - Medium	Momen's - Long Sleve - Medium

	Large		1.00	\$ -	32.00%	32.00%	Each	100	\$0.32	
	X Large		1.00	\$ -	32.00%	32.00%	Each	100	\$0.32	
	2X Large		1.00	\$ _	32.00%	32.00%	Each	100	\$0.32	
	3X Large		1.00	\$ _	32.00%	32.00%	Each	100	\$0.32	
3.1.2.7	Champion Exo Fleece Double Dry Crew Sweatshirt or Equal	Casual Clothing								
	Sizes:									
	Small		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Medium		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Large		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	X Large		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	2X Large		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	3X Large		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
3.1.2.8	Flexfit Performance Cap or Equal	Casual Clothing								
	Sizes:									
	Small		1.00	\$ _	32.00%	\$0.00	Each	100	\$0.00	
	Medium		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Large		1.00	\$ _	32.00%	\$0.00	Each	100	\$0.00	
	X Large		1.00	\$ _	32.00%	\$0.00	Each	100	\$0.00	

		1			,			1	1	1		
3.1.2.9	Flexfit Ball Wooly combed Twill Hat or Equal	Casual Clothing										
	Sizes:											
	Small			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Medium			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Large			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	X Large			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	2X Large			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
3.1.2.10	5.11 Tactical Taclite Hat or Equal	Casual Clothing	18.00	1.00	\$	18.00	32.00%	\$12.24	Each	100	\$12.24	\$1,224.00
3.1.2.11	5.11 Tactical Fleece Watch Cap or Equal	Casual Clothing										
	Sizes:											
	Small		18.00	1.00	\$	18.00	32.00%	\$12.24	Each	100	\$12.24	\$1,224.00
	Medium		18.00	1.00	\$	18.00	32.00%	\$12.24	Each	100	\$12.24	\$1,224.00
	Large		18.00	1.00	\$	18.00	32.00%	\$12.24	Each	100	\$12.24	\$1,224.00
	X Large		18.00	1.00	\$	18.00	32.00%	\$12.24	Each	100	\$12.24	\$1,224.00
3.1.2.12	Midway Convertible Bell Crown Cap or Equal	Casual Clothing										
	Sizes:											
	Size - 6 1/2			1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	

		·	Ī		1	1	•	ī	1	
	Size - 6 5/8		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size - 6 3/4		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size - 6 7/8		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size - 7		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size - 7 1/8		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size - 7 1/4		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size - 7 3/8		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size - 7 1/2		1.00	\$ 1	32.00%	\$0.00	Each	100	\$0.00	
	Size - 7 5/8		1.00	\$ 1	32.00%	\$0.00	Each	100	\$0.00	
	Size - 7 3/4		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size - 7 7/8		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size - 8		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
3.1.2.12	Misscellaneous Casual Clothing	Casual Clothing	1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
							Sub Total Elig	ible Items # 2		\$56,372.0
3.1.3	Contract Items # 3 - Tactical Equipment									
3.1.3.1	Smith & Wesson Model 100 Handcuffs or Equal	Tactical Equipment	1.00	\$ -	0.00%	\$0.00	Each	100	\$0.00	
3.1.3.2	Smith & Wesson Model 1900 Leg Irons or Equal	Tactical Equipment	1.00	\$ -	0.00%	\$0.00	Each	100	\$0.00	
3.1.3.3	Sabre Mark 9 Defense Spray or Equal	Tactical Equipment	1.00	\$ -	0.00%	\$0.00	Each	100	\$0.00	
3.1.3.4	ASP Airweight Expandable Baton - 21 Inch or Equal	Tactical Equipment	1.00	\$ _	0.00%	\$0.00	Each	100	\$0.00	

3.1.3.5	ASP Airweight Expandable Baton - 26 Inch or Equal	Tactical Equipment	1.00	\$ -	0.00%	\$0.00	Each	100	\$0.00	
3.1.3.6	Steamlight Strion LEF HL Flashlight or Equal	Tactical Equipment	1.00	\$ -	0.00%	\$0.00	Each	100	\$0.00	
3.1.3.7	Safariland RLS Tactical Gun Light or Equal	Tactical Equipment	1.00	\$ -	0.00%	\$0.00	Each	100	\$0.00	
										_
3.1.3.8	Flashlight or Equal	Tactical Equipment	1.00	\$ -	0.00%	\$0.00	Each	100	\$0.00	
							Sub Total Elig	ible Items # 3		\$0.0
3.1.4	Contract Item # 4 - Footwear									
3.1.4.1	Bates High Gloss Leather Sole Oxford Shoe or Equal	Footwear								
	Sizes:									
	Size: 6		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 6 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 7		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 7 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 8		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 8 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 9		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	

	Size: 9 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 10		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 10 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 11		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 11 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 12		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 12 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 13		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 13 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 14		1.00	\$ _	32.00%	\$0.00	Each	100	\$0.00	
	Size: 14 1/2		1.00	\$ _	32.00%	\$0.00	Each	100	\$0.00	
	Size: 15		1.00	\$ _	32.00%	\$0.00	Each	100	\$0.00	
						·			·	
3.1.4.2	Bates GX-8 Gore Tex Side Zip Insulated Boot or Equal	Footwear								
	Sizes:									
	Size: 7		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 7 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 8		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 8 1/2		1.00	\$ _	32.00%	\$0.00	Each	100	\$0.00	
	Size: 9		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 9 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	

						_					
	Size: 10			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 10 1/2			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 11			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 11 1/2			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 12			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 12 1/2			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 13			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 13 1/2			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 14			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 14 1/2			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 15			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 15 1/2			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 16			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
3.1.4.3	5.11 Tactical ATAC 2.06 Quarter Boot or Equal	Footwear									
	Sizes:										
	Size 4		115.00	1.00	\$ 115.00	32.00%	\$78.20	Each	100	\$78.20	\$7,820.00
	Size 4 1/2		115.00	1.00	\$ 115.00	32.00%	\$78.20	Each	100	\$78.20	\$7,820.00
	Size 5		115.00	1.00	\$ 115.00	32.00%	\$78.20	Each	100	\$78.20	\$7,820.00
	Size 5 1/2		115.00	1.00	\$ 115.00		\$78.20	Each	100	\$78.20	\$7,820.00
	Size 6		115.00	1.00	\$ 115.00		\$78.20	Each	100	\$78.20	\$7,820.00

Size 6 1/2	115.00	1.00	\$ 115.00	32.00%	\$78.20	Each	100	\$78.20	\$7,820.00
Size: 7	115.00	1.00	\$ 115.00	32.00%	\$78.20	Each	100	\$78.20	\$7,820.00
Size: 7 1/2	115.00	1.00	\$ 115.00	32.00%	\$78.20	Each	100	\$78.20	\$7,820.00
Size: 8	115.00	1.00	\$ 115.00	32.00%	\$78.20	Each	100	\$78.20	\$7,820.00
Size: 8 1/2	115.00	1.00	\$ 115.00	32.00%	\$78.20	Each	100	\$78.20	\$7,820.00
Size: 9	115.00	1.00	\$ 115.00	32.00%	\$78.20	Each	100	\$78.20	\$7,820.00
Size: 9 1/2	115.00	1.00	\$ 115.00	32.00%	\$78.20	Each	100	\$78.20	\$7,820.00
Size: 10	115.00	1.00	\$ 115.00	32.00%	\$78.20	Each	100	\$78.20	\$7,820.00
Size: 10 1/2	115.00	1.00	\$ 115.00	32.00%	\$78.20	Each	100	\$78.20	\$7,820.00
Size: 11	115.00	1.00	\$ 115.00	32.00%	\$78.20	Each	100	\$78.20	\$7,820.00
Size: 11 1/2	115.00	1.00	\$ 115.00	32.00%	\$78.20	Each	100	\$78.20	\$7,820.00
Size: 12	115.00	1.00	\$ 115.00	32.00%	\$78.20	Each	100	\$78.20	\$7,820.00
Size: 12 1/2	115.00	1.00	\$ 115.00	32.00%	\$78.20	Each	100	\$78.20	\$7,820.00
Size: 13	115.00	1.00	\$ 115.00	32.00%	\$78.20	Each	100	\$78.20	\$7,820.00
Size: 13 1/2	115.00	1.00	\$ 115.00	32.00%	\$78.20	Each	100	\$78.20	\$7,820.00
Size: 14	115.00	1.00	\$ 115.00	32.00%	\$78.20	Each	100	\$78.20	\$7,820.00
Size: 14 1/2	115.00	1.00	\$ 115.00	32.00%	\$78.20	Each	100	\$78.20	\$7,820.00
Size: 15	115.00	1.00	\$ 115.00	32.00%	\$78.20	Each	100	\$78.20	\$7,820.00

1.4.4	Thorogood Classic Leather Academy Oxford or Equal	Footwear								
	Sizes:									
	Size 3		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size 3 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size 4		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size 4 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size 5		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size 5 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size 6		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size 6 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 7		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 7 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 8		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 8 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 9		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 9 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 10		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 10 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 11		1.00	_	32.00%	\$0.00	Each	100	\$0.00	
	Size: 11 1/2		1.00	_	32.00%	\$0.00	Each	100	\$0.00	

	Size: 12		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 12 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 13		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 13 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 14		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
						-				
3.1.4.5	Bates Lites Leather Dress Shoes or Equal	Footwear								
	Sizes:									
	Size 6		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size 6 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 7		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 7 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 8		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 8 1/2		1.00	\$	32.00%	\$0.00	Each	100	\$0.00	
	Size: 9		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 9 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 10		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 10 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 11		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 11 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 12		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	_
	Size: 12 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 13		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 13 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 14		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Size: 14 1/2		1.00	\$ _	32.00%	\$0.00	Each	100	\$0.00	

	Size: 15		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00
	Size: 15 1/2		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00
	Size: 16		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00
3.1.4.6	Danner 6" Kinetic Side Zip Waterproof Boot or Equal	Footwear								
	Sizes:									
	Size 6		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00
	Size 6 1/2		1.00	\$.	-	32.00%	\$0.00	Each	100	\$0.00
	Size: 7		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00
	Size: 7 1/2		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00
	Size: 8		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00
	Size: 8 1/2		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00
	Size: 9		1.00	\$.	-	32.00%	\$0.00	Each	100	\$0.00
	Size: 9 1/2		1.00	\$.	-	32.00%	\$0.00	Each	100	\$0.00
	Size: 10		1.00	\$.	-	32.00%	\$0.00	Each	100	\$0.00
	Size: 10 1/2		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00
	Size: 11		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00
	Size: 11 1/2		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00
	Size: 12		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00
	Size: 12 1/2		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00
	Size: 13		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00
	Size: 13 1/2		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00
	Size: 14		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00
	Size: 14 1/2		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00
	Size: 15		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00
	Size: 15 1/2		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00
	Size: 16		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00

1.4.7	Rocky Slipstop Oxford or Equal	Footwear									
	Sizes:										
	Mens Size 7		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 7 1/2		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 8		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 8 1/2		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 9		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 9 1/2		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 10		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 10 1/2		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 11		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 11 1/2		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 12		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 12 1/2		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 13		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 13 1/2		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 14		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 14 1/2		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 15		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens Size 5 1/2		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens Size 6		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens Size 6 1/2		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens Size 7		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens Size 7 1/2		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens Size 8		1.00	\$ -	-	32.00%	\$0.00	Each	100	\$0.00	
	Womens Size 8 1/2		1.00	\$ -	_	32.00%	\$0.00	Each	100	\$0.00	

	Womens Size 9		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Womens Size 9 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Womens Size 10		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
.1.4.8	Rocky TMC Oxford or Equal	Footwear							
	Sizes:								
	Mens Size 7		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens Size 7 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens Size 8		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens Size 8 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens Size 9		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens Size 9 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens Size 10		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens Size 10 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens Size 11		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens Size 11 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens Size 12		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens Size 12 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens Size 13		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens Size 13 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens Size 14		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Womens Size 5		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Womens Size 5 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Womens Size 6		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Womens Size 6 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Womens Size 7		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Womens Size 7 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Womens Size 8		1.00	\$ _	32.00%	\$0.00	Each	100	\$0.00

	Womens Size 8 1/2			.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Womens Size 9		1	.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Womens Size 9 1/2		1	.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Womens Size 10		1	.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
3.1.4.9	Bates 4" Non-Metallic Waterproof Boot or Equal	Footwear									
	Sizes:										
	Mens Size 7		1	.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 7 1/2		1	.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 8		1	.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 8 1/2		1	.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 9		1	.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 9 1/2		1	.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 10		1	.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 10 1/2		1	.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 11		1	.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 11 1/2		1	.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 12		1	.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 12 1/2		1	.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 13		1	.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 13 1/2		1	.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 14		1	.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 14 1/2		1	.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 15		1	.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Womens Size 5		1	.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Womens Size 5 1/2		1	.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Womens Size 6		1	.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Womens Size 6 1/2		1	.00	\$ _	32.00%	\$0.00	Each	100	\$0.00	

	Womens Size 7		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Womens Size 7 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Womens Size 8		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Womens Size 8 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Womens Size 9		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Womens Size 9 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Womens Size 10		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
3.1.4.10	Fire Boots	Footwear							
	Sizes:								
	Mens Sizes		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Womens Sizes		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
3.1.4.11	Bates Lites Buckle Chukka Boot or Equal	Footwear							
	Sizes:								
	Mens Size 3		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens Size 3 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens Size 4		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens Size 4 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens Size 5		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens Size 5 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens Size 6		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens Size 6 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens Size 7		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens Size 7 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens Size 8		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00
	Mens Size 8 1/2		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00

	Mens Size 9		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 9 1/2		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 10		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 10 1/2		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 11		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 11 1/2		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 12		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 12 1/2		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 13		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 13 1/2		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 14		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 14 1/2		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 15		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
3.1.4.12	Danner Acadia 8" Waterproof Duty Boot or Equal	Footwear									
	Sizes:										
	Mens Size 5		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 5 1/2		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 6		1.00			22.000/	¢0.00	Foob	100	\$0.00	
			1.00	\$	-	32.00%	\$0.00	Each	100	Ş0.00	
	Mens Size 6 1/2		1.00	\$		32.00%	\$0.00	Each	100	\$0.00	
										·	
	Mens Size 6 1/2		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 6 1/2 Mens Size 7		1.00	\$	-	32.00% 32.00%	\$0.00 \$0.00	Each Each	100	\$0.00 \$0.00	
	Mens Size 6 1/2 Mens Size 7 Mens Size 7 1/2		1.00 1.00 1.00	\$ \$	- -	32.00% 32.00% 32.00%	\$0.00 \$0.00 \$0.00	Each Each Each	100 100 100	\$0.00 \$0.00 \$0.00	
	Mens Size 6 1/2 Mens Size 7 Mens Size 7 1/2 Mens Size 8		1.00 1.00 1.00 1.00	\$ \$	- - -	32.00% 32.00% 32.00% 32.00%	\$0.00 \$0.00 \$0.00 \$0.00	Each Each Each Each	100 100 100 100	\$0.00 \$0.00 \$0.00 \$0.00	
	Mens Size 6 1/2 Mens Size 7 Mens Size 7 1/2 Mens Size 8 Mens Size 8 1/2		1.00 1.00 1.00 1.00 1.00	\$ \$	- - -	32.00% 32.00% 32.00% 32.00% 32.00%	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00	Each Each Each Each Each	100 100 100 100 100	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00	
	Mens Size 6 1/2 Mens Size 7 Mens Size 7 1/2 Mens Size 8 Mens Size 8 1/2 Mens Size 9		1.00 1.00 1.00 1.00 1.00	\$ \$ \$ \$ \$		32.00% 32.00% 32.00% 32.00% 32.00% 32.00%	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	Each Each Each Each Each Each	100 100 100 100 100 100	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	

				_							
	Mens Size 11		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 11 1/2		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 12		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 12 1/2		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 13		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 13 1/2		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 14		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 14 1/2		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 15		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 15 1/2		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Mens Size 16		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
3.1.4.13	Miscellaneous Footwear	Footwear	1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
								Sub Total Elig	gible Items # 4	i	\$179,860.00
3.1.5	Contract Item # 5 - Ballistic Body Armor										
	Contract Item # 3 - Banistic Body Armor										
3.1.5.1	Galls Active Shooter Armor Kit	Body Armor	1.00	\$	-	0.00%	\$0.00	Each	100	\$0.00	
3.1.5.1		Body Armor Body Armor	1.00	\$	-	0.00%	\$0.00	Each Each	100	\$0.00	
	Galls Active Shooter Armor Kit Survival Armor Performance 611 Concealable Vest	·									
	Galls Active Shooter Armor Kit Survival Armor Performance 611 Concealable Vest	·									
3.1.5.2	Galls Active Shooter Armor Kit Survival Armor Performance 611 Concealable Vest or Equal Carrier for Survival Armor Performance 611 Vest or	Body Armor	1.00	\$	-	0.00%	\$0.00	Each	100	\$0.00	
3.1.5.2	Galls Active Shooter Armor Kit Survival Armor Performance 611 Concealable Vest or Equal Carrier for Survival Armor Performance 611 Vest or	Body Armor	1.00	\$	-	0.00%	\$0.00	Each	100	\$0.00	
3.1.5.2	Galls Active Shooter Armor Kit Survival Armor Performance 611 Concealable Vest or Equal Carrier for Survival Armor Performance 611 Vest or Equal	Body Armor Body Armor	1.00	\$	-	0.00%	\$0.00	Each Each	100	\$0.00	

3.1.6.1 Hand Cuff Case with Snap or Equal Duty Gear 1.00 \$ - 0.00% \$0.00 Each 100 \$0.00 3.1.6.2 Double Magazine Pouch or Equal Duty Gear 1.00 \$ - 0.00% \$0.00 Each 100 \$0.00 3.1.6.3 Level II Duty Holster or Equal Duty Gear 1.00 \$ - 0.00% \$0.00 Each 100 \$0.00 3.1.6.4 Level III Gun Holster or Equal Duty Gear 1.00 \$ - 0.00% \$0.00 Each 100 \$0.00 3.1.6.5 Safariland Tactical SLS OC/Mace Pouch or Equal Duty Gear 1.00 \$ - 0.00% \$0.00 Each 100 \$0.00 3.1.6.6 ASP Rotating Scabbard Duty Gear 1.00 \$ - 0.00% \$0.00 Each 100 \$0.00				1	1	_	1	1	1	1	1	
3.1.6.1 Hand Cuff Case with Snap or Equal Duty Gear 1.00 \$ - 0.00% \$0.00 Each 100 \$0.00 3.1.6.2 Double Magazine Pouch or Equal Duty Gear 1.00 \$ - 0.00% \$0.00 Each 100 \$0.00 3.1.6.3 Level II Duty Holster or Equal Duty Gear 1.00 \$ - 0.00% \$0.00 Each 100 \$0.00 3.1.6.4 Level III Gun Holster or Equal Duty Gear 1.00 \$ - 0.00% \$0.00 Each 100 \$0.00 3.1.6.5 Safariland Tactical SLS OC/Mace Pouch or Equal Duty Gear 1.00 \$ - 0.00% \$0.00 Each 100 \$0.00												
3.1.6.2 Double Magazine Pouch or Equal Duty Gear 1.00 \$ - 0.00% \$0.00 Each 100 \$0.00 3.1.6.3 Level II Duty Holster or Equal Duty Gear 1.00 \$ - 0.00% \$0.00 Each 100 \$0.00 3.1.6.4 Level III Gun Holster or Equal Duty Gear 1.00 \$ - 0.00% \$0.00 Each 100 \$0.00 3.1.6.5 Safariland Tactical SLS OC/Mace Pouch or Equal Duty Gear 1.00 \$ - 0.00% \$0.00 Each 100 \$0.00	3.1.6	Contract Item # 6 - Duty Gear										
3.1.6.3 Level II Duty Holster or Equal Duty Gear 1.00 \$ - 0.00% \$0.00 Each 100 \$0.00 3.1.6.4 Level III Gun Holster or Equal Duty Gear 1.00 \$ - 0.00% \$0.00 Each 100 \$0.00 3.1.6.5 Safariland Tactical SLS OC/Mace Pouch or Equal Duty Gear 1.00 \$ - 0.00% \$0.00 Each 100 \$0.00	3.1.6.1	Hand Cuff Case with Snap or Equal	Duty Gear		1.00	\$ -	0.00%	\$0.00	Each	100	\$0.00	
3.1.6.3 Level II Duty Holster or Equal Duty Gear 1.00 \$ - 0.00% \$0.00 Each 100 \$0.00 3.1.6.4 Level III Gun Holster or Equal Duty Gear 1.00 \$ - 0.00% \$0.00 Each 100 \$0.00 3.1.6.5 Safariland Tactical SLS OC/Mace Pouch or Equal Duty Gear 1.00 \$ - 0.00% \$0.00 Each 100 \$0.00												
3.1.6.4 Level III Gun Holster or Equal Duty Gear 1.00 \$ - 0.00% \$0.00 Each 100 \$0.00 3.1.6.5 Safariland Tactical SLS OC/Mace Pouch or Equal Duty Gear 1.00 \$ - 0.00% \$0.00 Each 100 \$0.00	3.1.6.2	Double Magazine Pouch or Equal	Duty Gear		1.00	\$ -	0.00%	\$0.00	Each	100	\$0.00	
3.1.6.4 Level III Gun Holster or Equal Duty Gear 1.00 \$ - 0.00% \$0.00 Each 100 \$0.00 3.1.6.5 Safariland Tactical SLS OC/Mace Pouch or Equal Duty Gear 1.00 \$ - 0.00% \$0.00 Each 100 \$0.00												
3.1.6.5 Safariland Tactical SLS OC/Mace Pouch or Equal Duty Gear 1.00 \$ - 0.00% \$0.00 Each 100 \$0.00 1.00 \$ - 0.00% \$0.00 Each 100 \$0.00	3.1.6.3	Level II Duty Holster or Equal	Duty Gear		1.00	\$ -	0.00%	\$0.00	Each	100	\$0.00	
3.1.6.5 Safariland Tactical SLS OC/Mace Pouch or Equal Duty Gear 1.00 \$ - 0.00% \$0.00 Each 100 \$0.00 1.00 \$ - 0.00% \$0.00 Each 100 \$0.00												
3.16.6 ASP Potating Scalbard Duty Gear	3.1.6.4	Level III Gun Holster or Equal	Duty Gear		1.00	\$ -	0.00%	\$0.00	Each	100	\$0.00	
3.16.6 ASP Potating Scalbard Duty Gear												
3.1.6.6 ASP Rotating Scabbard Duty Gear 1.00 \$ - 0.00% \$0.00 Each 100 \$0.00	3.1.6.5	Safariland Tactical SLS OC/Mace Pouch or Equal	Duty Gear		1.00	\$ -	0.00%	\$0.00	Each	100	\$0.00	
3.1.6.6 ASP Rotating Scabbard Duty Gear 1.00 \$ - 0.00% \$0.00 Each 100 \$0.00												
	3.1.6.6	ASP Rotating Scabbard	Duty Gear		1.00	\$ -	0.00%	\$0.00	Each	100	\$0.00	
3.1.6.7 Gould & Goodrich Expandable Baton Holder orEqual Duty Gear 1.00 \$ - 0.00% \$0.00 Each 100 \$0.00	3.1.6.7		Duty Gear		1.00	\$ -	0.00%	\$0.00	Each	100	\$0.00	
3.1.6.8 Safariland Safarilaminate Belt Keepers or Equal Duty Gear 1.00 \$ - 0.00% \$0.00 Each 100 \$0.00	3.1.6.8	Safariland Safarilaminate Belt Keepers or Equal	Duty Gear		1.00	\$ -	0.00%	\$0.00	Each	100	\$0.00	
Sub Total Eligible tems # 6 \$0.00									Sub Total Elig	igiblel tems # 6		\$0.00

3.1.7	Eligible Item # 7 - Jackets										
3.1.7.1	5.11 Tactical Response Jacket or Equal	Jackets									
	Size:										
	Small		80.00	1.00	\$ 80.00	32.00%	\$54.40	Each	100	\$54.40	\$5,440.00
	Medium		80.00	1.00	\$ 80.00	32.00%	\$54.40	Each	100	\$54.40	\$5,440.00
	Large		80.00	1.00	\$ 80.00	32.00%	\$54.40	Each	100	\$54.40	\$5,440.00
	X Large		80.00	1.00	\$ 80.00	32.00%	\$54.40	Each	100	\$54.40	\$5,440.00
	2X Large		80.00	1.00	\$ 80.00	32.00%	\$54.40	Each	100	\$54.40	\$5,440.00
	3X Large		92.00	1.00	\$ 92.00	32.00%	\$62.56	Each	100	\$62.56	\$6,256.00
3.1.7.2	5.11 Tactical 5 in 1 Jacket or Equal	Jackets									
	Size:										
	Extra Small		270.00	1.00	\$ 270.00	32.00%	\$183.60	Each	100	\$183.60	\$18,360.00
	Small		270.00	1.00	\$ 270.00	32.00%	\$183.60	Each	100	\$183.60	\$18,360.00
	Medium		270.00	1.00	\$ 270.00	32.00%	\$183.60	Each	100	\$183.60	\$18,360.00
	Large		270.00	1.00	\$ 270.00	32.00%	\$183.60	Each	100	\$183.60	\$18,360.00
	X Large		270.00	1.00	\$ 270.00	32.00%	\$183.60	Each	100	\$183.60	\$18,360.00
	2X Large		270.00	1.00	\$ 270.00	32.00%	\$183.60	Each	100	\$183.60	\$18,360.00
	3X Large		311.00	1.00	\$ 311.00	32.00%	\$211.48	Each	100	\$211.48	\$21,148.00
3.1.7.3	5.11 Tactical Sabre Jacket or Equal	Jackets									
	Size:										
	Extra Small		270.00	1.00	\$ 270.00	32.00%	\$183.60	Each	100	\$183.60	\$18,360.00
	Small		270.00	1.00	\$ 270.00	32.00%	\$183.60	Each	100	\$183.60	\$18,360.00
	Medium		270.00	1.00	\$ 270.00	32.00%	\$183.60	Each	100	\$183.60	\$18,360.00
	Large		270.00	1.00	\$ 270.00	32.00%	\$183.60	Each	100	\$183.60	\$18,360.00
	X Large		270.00	1.00	\$ 270.00	32.00%	\$183.60	Each	100	\$183.60	\$18,360.00

										,	
	2X Large		270.00	1.00	\$ 270.00	32.00%	\$183.60	Each	100	\$183.60	\$18,360.00
	3X Large		311.00	1.00	\$ 311.00	32.00%	\$211.48	Each	100	\$211.48	\$21,148.00
	4X Large		311.00	1.00	\$ 311.00	32.00%	\$211.48	Each	100	\$211.48	\$21,148.00
3.1.7.4	Dickies Fleece Lined Hooded Nylon Jacket or Equal	Jackets									
	Size:										
	Small			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Medium			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Large			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	X Large			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	2X Large			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	3X Large			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
3.1.7.5	Columbia Fleece Jacket or Equal	Jackets									
	Size:										
	Extra Small			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Small			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Medium			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Large			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	X Large			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	2X Large			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	3X Large			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
3.1.7.6	Single Breasted Poly/Wool lined Coat with 4 Pocket Flaps or Equal	Jackets									
	Size:										
	34			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	36			1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	

	38		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	40		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	42		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	44		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	46		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	48		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	50		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	52		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	54		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	56		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	58		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	60		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
3.1.7.7	Spiewak Weather Tech Systems Airflow Duty Jacket or Equal	Jackets									
	Size:										
	Extra Small		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Small		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Medium		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	Large		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	X Large		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	2X Large		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	3X Large		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	4X Large		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
_	5X Large		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	6X Large		1.00	\$	-	32.00%	\$0.00	Each	100	\$0.00	
	-	1		-							

3.1.7.8	Spiewak Performance Soft Jacket or Equal	Jackets								
	Size:									
	Extra Small		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Small		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Medium		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	Large		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	X Large		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	2X Large		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	3X Large		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	4X Large		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	5X Large		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
	6X Large		1.00	\$ -	32.00%	\$0.00	Each	100	\$0.00	
							Sub Total Elig	gible Items # 7	·	\$317,220.00
3.1.8	Contract Item # 8 - Patches									
3.1.8.1	Blackinton Lieutenant Bars or Equal	Patches-Name Plates	1.00	\$ -	0.00%	\$0.00	Each	100	\$0.00	
3.1.8.3	Penn Emblem Hash Mark or Equal	Patches-Name Plates	1.00	\$ -	0.00%	\$0.00	Each	100	\$0.00	
3.1.8.4	Chevrons or Equal	Patches-Name Plates	1.00	\$ -	0.00%	\$0.00	Each	100	\$0.00	
3.1.8.5	Collar Insignia or Equal	Patches-Name Plates	1.00	\$ -	0.00%	\$0.00	Each	100	\$0.00	
				1	1			1	1	

			1	1	1		ı	ı	T	ı	T	
3.1.8.6	WV State Fire Marshal Patch	Patches-Name Plates		1.00	\$	-	0.00%	\$0.00	Each	100	\$0.00	
									Sub Total Elig	ible Items # 8		\$0.00
3.1.9	Contract Item # 9 - Badges											
3.1.9.1	Hat Badge or Equal	Badges		1.00	\$	-	0.00%	\$0.00	Each	100	\$0.00	
3.1.9.2	Badge - Safey Clip Style or Equal	Badges		1.00	\$	_	0.00%	\$0.00	Each	100	\$0.00	
3.1.9.3	Badge - Wallet Clip Style or Equal	Badges										
3.1.9.3	Budge - Wallet Clip Style Of Equal	bauges		1.00	\$	-	0.00%	\$0.00	Each	100	\$0.00	
3.1.9.4	Badge or Equal	Badges		1.00	\$	-	0.00%	\$0.00	Each	100	\$0.00	
3.1.9.5	Hat Badge or Equal	Badges		1.00	\$	-	0.00%	\$0.00	Each	100	\$0.00	
3.1.9.6	Breast Badge or Equal	Badges		1.00	\$	-	0.00%	\$0.00	Each	100	\$0.00	
3.1.9.7	Breast Badge or Equal	Badges		1.00	\$	_	0.00%	\$0.00	Each	100	\$0.00	
									Sub Total Elig	ible Items # 9		\$0.00
3.1.10	Contract Item # 10 - Miscellaneous Items											

3.1.10.1	Campaign Hat Rain Cover or Equal	Miscellaneous	1.00	\$ -	0.00%	\$0.00	Each	100	\$0.00	
3.1.10.2	Law Pro Unlined Leather Search Gloves or Equal	Miscellaneous	1.00	\$ -	0.00%	\$0.00	Each	100	\$0.00	
3.1.10.3	Tri Fold Leather Badge Wallet or Equal	Miscellaneous	1.00	\$ -	0.00%	\$0.00	Each	100	\$0.00	
3.1.10.4	Shooting Glasses or Equal	Miscellaneous	1.00	\$ -	0.00%	\$0.00	Each	100	\$0.00	
3.1.10.5	Sirchie Evidence Tape or Equal	Miscellaneous	1.00	\$ -	0.00%	\$0.00	Each	100	\$0.00	
3.1.10.6	Sirchie Evidence Bags or Equal	Miscellaneous	1.00	\$ -	0.00%	\$0.00	Each	100	\$0.00	
3.1.10.7	Tie Tacs or Equal	Miscellaneous	1.00	\$ -	0.00%	\$0.00	Each	100	\$0.00	
3.1.10.8	Badge Holder or Equal	Miscellaneous	1.00	\$ -	0.00%	\$0.00	Each	100	\$0.00	
3.1.10.9	Shooting Glasses or Equal	Miscellaneous	1.00	\$ -	0.00%	\$0.00	Each	100	\$0.00	
3.1.10.10	Ear Protection or Equal	Miscellaneous	1.00	\$ -	0.00%	\$0.00	Each	100	\$0.00	
3.1.10.11	First Aid Kits	Miscellaneous	1.00	\$ -	0.00%	\$0.00	Each	100	\$0.00	
							Sub Total Eligi	ible Items # 10	0	\$0.00

	Contracted Items Totals Page						
3.1.1	Sub Total Eligible Items # 1	\$255,986.00					
3.1.2	Sub Total Eligible Items # 2	\$56,372.00					
3.1.3	Sub Total Eligible Items # 3	\$0.00					
3.1.4	Sub Total Eligible Items # 4	\$179,860.00					
3.1.5	Sub Total Eligible Items # 5	\$0.00					
3.1.6	Sub Total EligibleI tems # 6	\$0.00					
3.1.7	Sub Total Eligible Items # 7	\$317,220.00					
3.1.8	Sub Total Eligible Items # 8	\$0.00					
3.1.9	Sub Total Eligible Items # 9	\$0.00					
3.1.10	Sub Total Eligible Items # 10	\$0.00					

OVERALL TOTAL COST

\$

809,438.00

Please note: This information is being captured for auditing purposes.

Quantities listed herin are for bid evaluation purposes; no guarantee of any actual quantities should be implied.

Any product or service not on the Agency provided Cost Sheet will not be allowable. The state cannot accept alternate pricing pages, failure to use Exhibit A Cost Sheet could lead to disqualification of vendors bid.

Vendor should type or electronically enter the information into the Pricing Page to prevent errors in the evaluation.

BIDDE	BIDDER /VENDOR INFORMATION:								
Vendor Name:		Witmer Public Safety Group, Inc.							
Address:		101 Independence Way.							
City, State Zip:		Coatesville, PA 19320							
Phone Number:		484-702-9364							
Email Address:		isaac.hertzler@wpsginc.com							
	-								
Vendor Signature:	Asaac Hertzler	Date: 01/22/2025							